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1. The past tense of rewind is
(A) rewinded
(B) rewounded
rewound
(D) None of the above

2. Fill in the blank with the suitable option:
She ___ from the bus and walked to
the back-gate.
\_(A) boarded
(B) stepped
(C) moved
.. (D) alighted ».” .

3. The word ‘claustrophobia’ means
(A) fear of darkness
(B) fear of crowds

\/(Cﬁ'ear of confined spaces \/

(D) fear of water

4. Add a suitable prefix to form the opposite
of the word ‘capable’.
(A) Uncapable
(B) Noncapable

(C) Ill-capable
\Qﬁncapable /

5. Fill in the blank with the right option:
He was offended me unjustly.

(D) towards

6. Choose the right word for love of oneself.
(A) Hedonism
(B) Masochism
Narcissism
(D) Sadism oo

he place overwhelmed me,

ity of t : .
7. ﬂe% ad erlined word withasuitable
Replac T

(A Noiselcssniss/
(B) Calmness
(C) Tsolation
(D) Seclusion

P A |
£

word.

8. The idiomatic expression ‘make both ends

meet’ means
(A) BeEIY T o b
get over '
(C) getdone
(D) get well

9, The word sofficious’ means
(A) self-important
(B) official
(C) serious
(D) enterprising

10. Selectthe correctanswerto fill in the blank.
The ship, with its crew, lost.
(A) were ;
\}B')/ was / ;
(C) were getting
(D) was being

11. Convert the given sentence into an
interrogative sentence:

I will meet you tomorrow.
(A) Where will you meet me?-
(B): How will you meet me?
(C) Will you meet me? /
When will you meet me?

12. Fill in with a suitable preposition:
He is-taller than you
(A) with
(B) of

two inches.




13. The word viciisi}xde means
(A) change .o

(B) stagnation
(C) uniformity
(D) stability

14. The idiomatic expression, once in a blue

moon, means
\(A) Tarely /

(B) frequently
(C) regularly
(D) never

15. The antonym of the word weird is
Normal
(B) Casual
(C) Tired
(D) Worried

16. Select the correct spelling:

(A) Accommodition
\BJ Accommodation /

(C) Accomodation
(D) Acommodation

17. Which is the correct sentence?

(A) Anone-eyedperson wasseenroaming
about the streets.
A one-eyed person was s
about the streets.

(C) Theoneeyed person was seenroaming
about the streets.

(D) One-eyed person was seen roaming
about the streets.

roaming

18. The antonym of the word superficial is
(A) Deep
(B) Artificial
(C) Apparent
(D) True

MTS/21

19. Choose the right option:
While I in the library, someone

threw a ball through the :vyaw
\/Qr)/was sitting

(B) was seated
(C) had been sitting
(D) am sitting

20. A place where bees are kept —
Aviary

(B) Abattoir

(C) Granary

(D) Apiary

21. The expression ‘holier than thou’ means
\,(k)/pfre

'(B) religious
(C) moralistic f
(D) sanctimonious
22. Fillintheblank with the suitable preposition:

He presided the meeting.
\MVer 1\7L
(B) at
(C) in
(D) for gl
23. ‘La Gioconda’ (Mona Lisa) is
unique work of art.
Fill in the blank with the suitable article.
(A) the

(B) an
\J,Q)/a /
(D) this

24. The synonym of supercilious is RN
(A) officious
(B) superficial

©) delicious\/
(D) haughty
25. To feel ‘under the weather’ means
feel depressed :
(B) feel uncomfortab

(©) feel unwell
(D) feel uncertain
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26. Whatisthe maximum Government Subsidy
that can be availed by a beneficiary under the
Gatidhara Scheme?

(A) Rs. 50,000
(B) Rs. 1,00,000 "
(C) Rs. 2,00,000

Rs. 5,00,000

27. Mansgb means
X)) A rank or office ‘\/

(B) A military general
(C) A grant of revenue free lapd
(D) A religious text

28. When was the University of Calcutta
established? ~
(A) 1911
(B) 1817
(C) 1854

BT 1857 v

29. Who wrote Amuktamalyada? F
(A) Rajaraja Chola B
(B) Harshavardhana Ty
(C) Deva Raya

\/GB'f Krishnadeva Raya -/

30. Who had designed the first Indian National

(B) Annie Besant
(C) Sarojini Naidu

(D) Sister Nivedita

(B) GRS
(C) Fea gfmA
(D) @f2g

28 aﬂ%m ol ReiRMpieTa (i AN e 242
(A) 1911
(B) 1817

(C) 1854 Bibh.
1857 ‘ -

29. SRETET-1 TR (v

(A) IS i TSl .

(B) sy P’YL\;_?KA\E’P‘C’

©) R Gk
TR AW Fom”\\ '
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31. Government of T
ndia pas
protect the human rights i thelt) yeiid the Act to

(A) 1990
(B) 1993

C)_ 1995
2002

32. Judgesof Supreme Court retire at the age of
(A) 60 years
(B) 62 years

\,(Q)/G‘S years o

(D) 70 years

33. Which Medieval ruler introduced Am-l-
Dahsala?
(A) Balban
\,GB‘fFeroz TughlacE
(C) Sher Shah
(D) Akbar

34. Article21 of the Indian Constitution ensues
(A) Right to Religion
(B) Due Process of Law

Right to Life and Personal Liberty \/ '

(D) Procedure established by Law

35. Khutba was
a sermon read in thwe of the ruler
at Friday prayers.

(B) aroyal order.
(C) areligious decree.

(D) atax.

-

L ———— e e
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T m——t LR LA
oM A
(A) 1990 AT @3«0\( K 01@%
(B) 1993 AN DQ““
(C) 1995 e \%N, o
(D) 2002 A& (\C\/ K\C{G\ g2

32, R @i RerRefen Wﬁﬂ T
(A) 60370 | :
(B) 62314
(C) 6537
(D) 70 IR

33, @ wzﬁn T S-3!S

eI

(A) TR
(B) Rrae gwes
(C) IR
(D) SR

34. SIS ARUIETH 21 7 SPRET I TR
(A) T PO SR
(B) IR TR #h&fs|
(C) &7 ¢ & FATo wRTw |
(D) =izH 6% AfSfde simfe |

35, Y@ WL

(A) www@mwwmom
Toim | .

(B) STEH STRHT |
(C) 43 STy |
(D) 93 7
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36. In West Bengal, Export Processing Zone

(EPZ) has Started functioning at

(A) Raichak
B Fala
(C) Kakdwip

(D) Haldia

37. The waves produced by motor boat sailing

on water are

transverse
(B) longitudinal

(C) longitudinal and transverse: /

(D) stationary

38. According to the Census of India 2011,
which one of the following Union Territories had

the highest sex ratio? N
(A) Chandigarh
(B) Puducherry < \D 9}
akshadweep

(D) Daman and Diu

39. Mica producing district of West Bengal is

Bankura

(B) Paschim Bardhaman ,
(C) Birbhum o

. Lo

(D) Purulia @Q\B«\
N o
qy Qust e
BJ}_U"

40. The Hindi film ‘Padman’ released in 2018

was inspired by the true life story of

(A) nachalam Muruganantham

) R.Balki
(C) Akshay Kumar
(D) Bindeshwar Pathak

S

i ‘Export Processing Zijes
(E:;fz)—«ﬂ?f e TS T
(A) TOCE oteli
(B) FTOH ,
(€) FFAA
(D) ZA

37, G5 (3B BT I TFS O 2
) e
(B) A
(©) fot @ SIS
(D) B

38, SfAed SMNEE 2011 SPA, FafRe
i ErifTe et A Tt Sgeire e
(A) 58T :
(B) A5
(C) wr=ra
(D) 7 8 1%

39, SRR WY TesvaHISt (& 26
(A) gl
(B) 5w I -
(C) g &
(D) sffert

40. 2018 (S et “sprey R Himo I
SRR 9T WA Wi, R 2w

(A) Arunachalam Muruganantham
(B) R.Balki

(C) Akshay Kumar
(D) Bindeshwar Pathak



41. NRC is now in form of a
(A) Draft
(B) Bil
(> Act
(D) None of the above \/

42. The responsibility for printing currency
notes in India lies in the hand of

(A) Ministry of Finance
(B) Prime Minister’s office
\(Cr Reserve Bank of India /

(D) State Bank of India

43. Inter-state council is formed by the

\g;){Erime Minister
Parliament

(C) Chief Justice of India
(D) President \/

44. ‘Letters from Burma’ is a book of essays
penned by

(A) Aung San Suu Kyi \/
(B) Rashbehari Bose

Sarat Chandra Chattopadhyay
(D) Subhas Chandra Bose

45, The following coastal area of India was
affected by ‘Hudhud Cyclone’ :

(A) Chennai coast
Kerala coast
(C) Andhra coast r\/

(D) Bengal coast

MTS/21:
AT

wBIcd SR |
41, G A _——

(A) T

(B) fa

(C) A

(D) Toiaa @A T

42, TS BT (1B A AT @
T (A) w9 E
(B) i Sifzes-ad
() fiers yiF-aq
(D)~ G55 T~

43. wirg-arey S e 2
' (A) ddimEE =
(B) IfGrs-ag At
(C) SIATed A4 Rpr#fed =
(D) Fg=fe =t

ergﬂéz

44. ‘Letters from Burma’ NS 2% & I200

(A) e i 3 B at
(B) I9IRREral 99 \0\’ S
(C) *IA<5H GBI

(D) TervE 37

45. ©rey NS Semy wwa® o
YIe’-97 11 efoie ¢

(A)- AR Boiga
(B) 1T Torp
(©) uF ot

GV

(D) % ToRm
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46. Under which amendment of the Indial;
Constitution the voting age reducedto 18 from 211

(A) 60th

61st «\/

(D) 63rd

47. The largest IT company in India is (as of

June, 2021)
mpro
(B) HCL T\ech/noLogy

(C) TCS
Tech Mahindra

f$8. Who among the following cricketers won
#the Rajiv Gandhi Khel Ratna award, 2020?
: (A) Virat Kohli '

(B) Sikhar Dhawan

(C) Suresh Raina ;
Mohit Sharma /

49. Which Sultan was not a slave before he
ascended the throne?

(A) Qutub-ud-din Aibak
(B) Iltutmish /

Alauddin Khilji ‘
(D) Balban

50. JosephRobinette Biden Jr., the46thPresident
of the USA belongs to the political party named
(A) Republican Party
(B) Labour Party
emocratic Party
(D) Nationalist Party

A-8

46, OFTO ﬂ:ﬁm;c;?f gﬁ RNy .
< 21 (4 TR 18 TR e i,

() 60

B) 6297 \ RS
(C) 619% -~
(D) 63

47. Eﬁ,zOZIWWWqTM
&
(A) Wipro
(B) HCL Technology
(C) TCS
(D) Tech Mahindra

48. 2020 TG G SR (BTG {379 i
 qwa @in e

| (A) e oIz

| ®B) Rz qheam

(C) e Al

(D) caifEe *isf

49. (I FTol PR SRS 1= leed
fogem i e
(A) TS Wz
(B) TETgehip
(C) e Reifer
(D) 9119

50. Joseph Robinette Biden Jr. 2 S
TSN 8v-oy Fgsifs | Rofet @ W o
(A) RotRfre i
(B) R A
©€) et i
(D) TRES My




51. ‘Chipko Andolon’ js known as

(A) Feminist Movement-ﬂ
\,ﬁB‘ﬁ:]:al Movement \/

(C) Political Movement "[Q

(D) Caste Movement-(r\

52. Punarbhava and Atrai are the distributaries
of the following river :

\(&) Torsa
(B) Teesta
(©) Jaldhaka
(D) Raidak

| 53. If the length of the filament of a heater is
reduced by 10%, the power of the heater will

(A) increase by about 9% /
(B) increase by about 11%
(C) increase by about 19%

\/CDj/decrease by about 10%

| 54. Badland topography is an important
characteristic of the following region :

(A) Gulf of Kutch
: (B) Sundarban Delta

(C©) K Coast
Marizl;nal Valley

55, The velocity ratio of the hour hand and
minute hand of a clock is
1412
(B) 12:1
(C) 24:1

A-9 MTS/21
51, Foict wtery ___ foimea Ao |
(A) TR AL
(B) Sol@eRT ST
(C) AGASS TCHIETT

(D) SIS SHET

52. <6316 G 2o RIS TRGT =4 3
(A) cor
(B) fest
(C) it
(D) FTCIS

53, @36 RIS ©I=a O 10% e, RBoia

[ 20|

(A) SIeEIFE 9% IS |
(B) S 11% IS |
(C) I 19% A |
(D) SIfAE 10% I |

Pt
1Y

54. g FAEiRe wwwEm ol awgsyf
gy 8 i

(A) 0% Goppraig At
(B) %I+ I-qe
(C) (I Goigeat
(D) 5% Syt

55, w@ww%%ﬁmﬁﬁmmﬁmﬁa

(D) 1:24

SIS 7T
A) 1:12 6‘!@@;,
(B) 12:1 : e
©) 24:1 = \1-
(D) 1:24
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56. Who wrote ‘Poverty and Unbritish Rulein
India’?
(A) Ramesh Chandra
Dadabhai Naoroji
(C) A.O.Hume
(D) Amartya Sen

Dutt

u

57. What was the original name of Titumir?

(A) Syed Amanullah Khan/
\ B Syed Mir Nasar Al

(C) Syed Amir Ali

(D) Syed Mir Muhammad Khan

58. What was the Carlyle Circular and when
was it issued in colonial India?
(A) Adecreetoprevent political gathering
during the World War I,
(B) A regulation to introduce English
education in schools after 1857,
(C) A decree to restrict use of arms by
Indian citizens of colonia] India from
1919 onwards,
a .Adecreetopreventnationalistprotests
amongst students in educationa]

institutions during the Partition of
Bengal.

59. The Sundarban is declared a ‘Ramsar gige»
in
1987
(B) 1972
(C) 2018

(D) 2019

\ / (D)

A-10 . .
poverty and UnbritishRule j, India*

56. )

57, S T A B 2w
(A) G SRR <
(B) R 1 AT i)
(C) W SN St
(D) GRM A 2T A

s, IR IAIFE T @R T o oty
S ofEe 2 e ' -
' (A) @3 fE a1 dam Regoas w
AP Aot RT3 |

(B) ¢35 NS A9t 1857-3 o1tz Ry
" X R evem a0

©) 93 fEfEr a1 1919-q7 stz @sifirei
SIS IR Y7 s 30 |
0 i 37w qoren fot
SRS Wi g
BRI S @ew T

a0y

9.5y q“‘@‘ﬁmm’fwﬁmﬂwﬂ
(A) 1987 .

B) 1977
(©) 2018 Ry

(D) 2019 RBier




60. Who was known as the ‘S -i-Bangal’?
Fazlul Haque ‘\/ber

(B) Haji Muhammad Mohshin
(C) Maulana Abul Kalam Azad
(D) Nawab Salimullah

61. The names of Sidho and Kanho are
associated with which rebellion?

(A) Chuar rebellion

(B) Sannyasi rebellion
Mmthal rebellion -/
(D) Kol rebellion

62. Who was the Mughal emperor during the

Revolt of 18572

(A) Aurangzeb

(B) Mir Qasim
\(&¥ Bahadur Shah II
(D) Sarfaraz Khan

63. Members of the Public Accounts Committee
are elected by
(A) President

(B) Speaker
e members of the both Houses of

- Parliament through the method of N

'proportional representation by single
transferable vote.

(D) Prime Minister

64. Neeti Ayog was formffy
\Mnuary 1, 2015
(B) January 1, 2016

(C) January 1, 2017
(D) January 1, 2018

869

A-11
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60. ‘C-3-3r3AIeT’ LT TN RO ?
(A) TGl 2P
(B) e sz =i
(C) NIt Sz A G

(D) AR GIfETER

61. iy @ Pl 7 (@I KA A oo ?
(A) parS
" (B) A Az
(C) HAlew [z
(D) @ Rz

62. 1857-93 RmItEd 31 (F ¥ =1 Rt 2
(A) SNeTHE
(B) Tz sifm
- (C) faSH AR iR
(D) e &t

{

63. ARFer SRS T SRB7 el oo =
(A) Ao ==t
(B) ™pIH-97 =t
(©) AFGILS Towess swoitm o
RSN dfe R e
TG | ;

(D) 4N 7l

64. AfS-<M Sifde 27
(A) =¥ @I, 2015 wifiey
(B) A%l &g, 2016 Wity
(C) =T &g, 2017 wifiry
(D) *ReT ez, 2018 @iy
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65. The solar cooker works on the same
(B) Pyrometer

principle as
(A) Bolometer
; Greenhouse /
(D) Solar PV cell
66. Mukutmanipur Dam is located across the

following river :
Subarnarekha

(B) Dwarkeswar

(C) Barakar /

(D) Kangsaba;i :

67. Dubbed as the Dakshina Ganga (Ganges of
the South), the largest river of th India is

the Godavari
(B) the Cauvery
(C) the Penganga
(D) the Mahanadi

68. The Nayankara system is associated with
The Bahmani Kingdom
(B) The Chola Empire
(C) The Maratha Kingdom /
(D) The Vijayanagara Empire ~/.

69. Sandhyakar Nandi was the court poet of the
(A) Mauryas
Senas
(C) Huss

(D) Palas

A-12°

65. WWW@NWW,WW?
(A) '

®B)
(©) TR .
(D) G FIEATSER (P

68. WWWW/’?@WWW?
(A) ! AT b, g
(B) (BT AITeD ?‘O\;\rc_{{“ e
(C) W=gt ATy (A&st !
(D) R ey

69. TP T @ AT
(A) G e
(B) @ A&
(C) TR e
(D) e et

Wfi‘@“?

»
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70. ‘Perseverance’ r
over was
landed by NASA on the surface of

(A) the Moon \/

\)Mhe Mars

(C) the Jupiter
(D) the Sun

71. Who won the French Open in 20217

Rafael Nadal
(B) Stefanos Tsitsipas

(C) Daniil Medvedev/
(D) Novak Djokovic

72. Which is the Direct Tax in India?
(A) VAT

, GST
\%;)/Wealth Tax /

(D) Excise Duty

73. Thenew station constructed and established
by India in March, 2012 for scientific research in
Antarctica is called

(A) Priyadarshini
L@S’ﬁ’harati '\/

(C) Maitri

(D) Dakshin Gangotri

74. The Subaltern School of historiography

was spearheaded by
(A) Shahid Amin
\_(Br Ranajit Guha \/
(C) Partha Chatterjee
(D) Goutam Bhadra

Successfully

P MTS/21.

70. *Perseverance’ A AA-C2AfFS et @
T AT AN FIOF FAMCA! m NEC
(A) b s
(B) =&
(C) 3T>If$
@)

71, 2021 ICE TR QT TR 2 (2
(A) I FWLA
(B) GOFIART G
(C) Giifva Grecstre
(D) e (@Rifes

72. SIECS AOFF I (I 2

(A) VAT N B»‘V\
®) R @O*’ .
“(C) TR 9@'\

(D) =3

73. M, 2012 I @TRITF RN &) OIS

AR (1 GBS AR o A
(A) fermfat ‘
(B) il T
(C) & ‘
(D) wiRFe scstrar Y

74. 3 Fraeela SRIER 5t 0 2
(A) i =ifie
(B) gfere wg
(C) N 15T

(D) ey ©g
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75. Who is the custodian of the Indian
Constitution?

(A) President
(B) Vice-President

(C) Parliament /
\JDj/S;;reme Court

76. Started in June, 2014 by the Union
Government of India, the ‘Namami Gange’
Programme is associated with

(A) Worshipping the Ganga

(B) Canal irrigation from the Ganga

(C) River linking with the Ganga
National Mission for Clean Ganga

77. The power of a lens is +2:0D. The focal
length of the lens and its nature are

(A) 50 cm, concave
(B) 50 cm, convex
(C) 100 cm, convex
(D) 100 cm, concave

I
78. Who was involved with the ‘India
Independence League’?
(A) Deshbandhu Chittaranjan Das
(B) Mahadev Govind Ranade

(C) Ananda Mohan B(iV
Mﬂshbihan’ Bose

79. Who was the editor of the nationalist
newspaper ‘Sandhya’?
(A) Satish Chandra Mukhopadhyaya
(B) Bramhabandhab Upadhyay \/
(C) Sisir Kumar Ghosh
(D) Bhupendranath Datta

V/

A-14
75. N AEISIE HRES feramia (CUSt(‘{dAian) &

76. 2014 A F 26T ©IFS FIIE Ty
(A) ST Sl
(B) 517t (40T AFCTD
(©€) st A WA S

T (D) i Ao w1 e

7. @l G NSl +2:0D | GV R

T @R &Pl
(A) 50 cm, SR Vo
(B) 50 cm, TG e 7;
(C) 100 cm, T& ? :
D) 100 cm, SRS R
(D) cm _ Dggb o

78. ‘S TATGCATT V-7 X & Teo
e e

(A) (g e
(B) TR (o™ TS
(C) W% (WZA (7
(D) AR @I

79. FHW’ NS SOOI LTI T
CARGTE:

(A) M b& AT
(B) T ol

(C) i 7 cary

(D) girimIe wa



80. The chopping of
because of the chemical ¢
ainin
Mlphur \/m ¢
(B) Chlorine

(C) Bromine
(D) Nitrogen

81. Thef"éilowin state is the highest
of tin in India : - 18 the highest producer
ajasthan
(B) Odisha
) Jharkhand
(D) Chhattisgarh /

82. A person on a swing stands up. The time
period of the swing
(A) increases

) remains the sa
(C) decreases \/me

(D) becomes zero

83. Which revolutionary leader made ‘mercy

petitions’ from jail? /
&S V.D. Savarkar
(B) B. G. Tilak

(C) Sukhdev Thapar
(D) Chandra Shekhar Azad”

84. Who coined the slogan ‘Swaraj is my birth

right’?
(A) Vinayak Damodar Savarkar

(B) Vasudev Balwant Pha:ﬂy
Bal Gangadhar Tilak

(D) Balkrishna Chapekar

MTS/21

80. ﬁwmmmﬂrwmmwﬁ_
(A) ATTR
(B) @I
(©€) @ifia
(D) FRETEG
81, Wﬂwmﬁm&nmﬁmzﬁg@
oIV T 8 \
Besiis 2 8 N\“’\P\/\a\,

W) TR\ e o
B ot G i

(C) gy
(D) wfenag

82, G (IR 3 wmwm
IR Affae ;
(A) IR
(B) 7% RTI
C) 1
(D) % T

e Q/M—

83, (P Radt Mo (@@ (W wﬁ fafmw
TR _
(A) . . Aers \
B) R. & ez
(C) BIMI A
(D) SETNT T
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(A) RN WG e
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(C) I Wi oot
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90. In terms of thermal ¢
electrical conductivity (§), dj

(A) low k and high §
(B) high k and low )

~ (C) high kand high §
M;v k and low §

onductivity (k) and
amond has

v

21. Researf:hers has discovered recently
antibody of which virus inbats from Mahabalaswar

cave?
(A) Nipah r\/

(B) Ebola
(C) Cowd 19
e

92. The confluence of Bhagirathi and
Alakananda is located at

(A) Rudraprayag
\,LB')/Devprayag \/

(C) Haridwar

(D) Allahabad

[
93. In India, topographical map is published
from the following organization :

(A) NATMO
(B) GSI

(©) SOI
\MI

94. Although the final match between England
and New Zealand was a tie, England won the 2019
ICC World CUP. The reason was

(A) England was the host nation,
\/(B?/England won Super Overby boundaries,

(C) England won by toss.

(D) New Zealand lost for match-fixing.

90. o AR (k) 9K e oAfFaiRet
(&)= eieE Daea (diamond) ATT
(A) 7 k'8 T% 5 -
(B) Tt k'8 A5 8
(C) T k'3 TH &
(D) s kw3 77 &

91. S{FEFA MREFHIE TYIAETHET A
F(EAN L \~ ‘
(A) st o)
(B) A JVNJ Q"-
(C) @Ifew 19
(D) for

92. ©INA @ SRR ALCAIIZe (ZS
(A) FHATN-q TN s
(B) (Agio-9q
(C) 2RmIF~9
(D) 9= IRI_AM-9

93. ©rre WEFRe AT (A Gieetaime
T atie 53 ¢
‘ (A) NATMO S
(B) GSI - TN
(C) soI
(D) ZSI

94, TSI I T 71 QS 2019 AR ICC

@ Retet BT @ WSRwemre~ag wug T, ©ite
e Kol <1, T :

(A) IS e oot foey|

(B) 31711 S®I7-9 A% Beemies caffr |
(C) T 57 (ot | ~_
(D) fTefmeDIe Si5-RefRis < gy
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95, The Partition of Bengal was annulled in

(A) 1905
Mm
(C) 1901
(D) 1947

96. Shanti Swarup Bhatnagar Prize is awarded
in the field of

(A) Peace

\}Ba/Scxencc and chhnology \/
(C) Medicine
(D) Economics’ R

97. A pendulum clock that keeps correct time
on the earth, is taken to moon. It will then run
(A) at correct rate.
(B) mes faster.

\/(22/:: times faster. \/
(D) 6 times slower. ./’

98. Which Indian Nationalist Leader is known
as ‘Grand Old Man of India’?

(A)- Badruddin Tyabji -

T

(B) Surendranath Banerjee .

Xd

(C) Gopal Krishna Gokh\ale/
Dadabhai Naoroji

99, Which one of the following sequence of the
Himalayan ranges from south to north is correct?
(A) Karakoram - Ladakh - Zaskar-
Pir Panjal
(B) Ladakh - Zaskar- Pir Panjal -
Karakoram
(C) Zaskar- Pir Panjal - Karakoram -

Ladakh
\y/Piar Panjal - Zaskar - Ladakh -
Karakoram \/

A118"

95, (I A THSK T L
(A) 1905
(B) 1911
(©) 1901
(D) 1947

06. |Remiel ©BAAT (& CFGY (MEHN H, 1% 27
A) *if% $
B) Ram ¢ eff@
(©) fofem
(D) GRS

>

97, #|fRemy 7ow T A uﬂaff%-cmaﬁ
i e e &, O

A) BT AR S
(B) 6@‘13’®W|/ﬂ 9( %
(C) V6 9% &S TR | "

D) Vet B@eemal

98. (TN SO TSR mw ‘TG 6™
WWW TN

(A) IR ToTRE
(B) &I e
(C) CooeTRrRe CotteiTe g =
(D) WM} GTad e Nl

~
~

99, 7Y (U TR R srfomEz RERIRT
TR g o sifdene .

(A) PR - = - e - Aot
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100. According to WHO the official name of the
\v1rus Tesponsible for Covid-19 disease is

|\ SARS-Cov-2

\ (B) Covid-19
(C) nCovid-19
(D) Corona Virus

'O‘%
ey
TIOI. What s the limit of the Annual turnover for

small enterprises?

(A) 5 crores to 75 crores rupees
A(B7 less than 5 Crores rupees

(C) Between 75 to 150 crores rupees

(D) Between 150 to 200 crores rupees

102. The variability of rainfall during August in
India would be more pronounced generally at
(A) Kolkata

anchi

\,@‘Jodhpm

(D) Lucknow

103. ‘Dandi March’ had inaugurated which
movement?

(A) Swadeshi-Boycott Movement
(B) Noprcooperation Movement

Civil Disobedience Movement
(D) Quit India Movement

104. Who is the present Chief Election
Commissioner of India (as of June, 2021)?

(A) ‘ApikChauhan /
¥ Sushil Chandra
~(C) Sunil Chandra
(D) Anil Malhotra

s

A
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100. WHO-a% 5te Covid-19 czﬂz_ﬁ w v
SiRarta SR A 2
(A) SARS-CoV-2
(B) Covid-19
©) nCovid-19
(D) FCAA SRAA

e N ‘

101. 58 SEOieE AR @AICIeE Af
(A) 5 @IS (TF 75 o Bt
®) s@BIRAE gD T
(C) 75 (® 150 AL opt
(D) 150 (T 200 G Bt

102. ©ICS o6 AT JRATOT OO FAYAS
wf‘wm =

(A) TR
(B) e
(C) @A
(D) SCH-4

\/7

103. TS SfCT RN ARATST ST
A et et

(A) FOMN-ITI6 SRS
(B) SFIRENS SITHIET
(C) SZA Sy SHcwieTey
(D) SIS QTS HitHIeT

N

104. June, 2021 RFHAR Siameg 75 i

St e TR
(A) S i
(B) 1=t v
(C) 7 v

(D) WA SieTeyay
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v L Mos 2

> v } "2,
";/ g v WA/ 50 '\‘//] o~ % e
il Sl a3 .
Mo " M\/ e 105 3o ] :’lf@ @ I AR IET G
ual . : ;
light body have €q | y
105. A heavy body and a Rl TR | ST v
kinetic energy. Then mentum. \ (A) gl CGUES wfgs CHCRRISES]
heavy body has greater MO o < S u
B) light body has greater momentum. (B) Rer BI{IE CHICRIISIS
ke tum c)qﬁawem‘mml -
(C) both have equal momentuir. - ( 2 ; ,
(D) both have same angular momenturi. (D) i PR AIREACKIA IF
106. Which part of the world was the agenda of 106. WWTE@WW @C‘Tr“wﬂ@?@ ISR
Khilafat movement involved with? |  IGIERRAK A s e, iGE \. '
(A) India (A) TS
(B} b (B) W
(C) Jran © .
Turkey / 5 \ﬁ

107. Which of the following is not a unit of
distance?

(A) Light year
(B) Parsec

(C) Furlong
\P7 Tiffy o

108. Largest wind farm of India is located in -
\ (& Tamil Nadu \/
(B) Andhra Pradesh
(C) Maharashtra
(D) Gujarat

\.

g -

109. Nameofthe supercyclone ‘Yaas’, was given
(A) India

by
\,QB'f Oman /

(C) Sri Lanka
Bangladesh

(=

107. A T I TACGH G T ? -
(A) SIETFIE

108. ST IR IFAE TeArm (7 RFS
(A) OifiEmITTe
(B) wame
(C) TG
(D) WEANG

109. “Yaas® 2o «of5 SJotta 13ty g o e
(A) o ‘

(B) suig
(C) At

(D) et



110. Which Ben

\ ‘Ban eshechhe mg
Bengal?

gal poet composed the song
ra gange’ during the Partition of

L) Rabindranath Tagore
(B) Lalan Fakir

(C) Kazi Nazrul Islam
\(PJ Mukunda Das /

111. The boundary line of Sundarban was
demarcated by

(A) Hamilton Saheb

(B) Major William Tolly
(C) Scott

\,EH{ Dampier and Hodges \/

112. Which among the following novels of

Sarat Chandra vividly reflected the revolutionary
movement of India?

(A) Srikanta /
Pather Dabi

(C) Palli Samaj

(D) None of the above

113. Who was the Chief Guest of Republic
Day, 2021 in India? b

(A) President of Sri Lanka
(B) PM of Bangladesh

(C) King of Bhutan
4B None of them \/

114. Kurnool-Kudapa Canal is taken off from
the following river :

(A) Cauvery y
Krishna
(C) Tapti

(D) Tungabhadra /

G

MTS/21
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i mmmmﬁaﬁr«m GTAR

Wm@” WMW?
(A) 7R ITH
(B) e TR
(C) & e T

(D) g™ 7

111, FFRRET St o FEfRE

112. *R<p@a @ IR Sieed [adt

QIR 8 Afewe o 34 Ptz 2
A) S8
(B) tag Wy -
(C) “Bemra

(D) Toima @ITe 77

113. 202191 SRSH 40y W1 SrAiiea e
2l SfefY & farem 2

(A) q=ER Gt

(B) AT 2w S
(C) BOITTa et

(D) SRR 03 7w

114, FsFRe T% @@ $fa-FoE W fisfe
JAR 2 5y

(A) IS

(B) !
(C) Ot

(D) woeat
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115. A battery consists of 10 cells, each of emf
1V.If 2 cells are wrongly connected, the emf of the
battery becomes

X (A) 8V
(B) 10V
\(&S 6V

(D) 12v

116. What proportion of the Insurance Premium
payable for Swasthya-Sathi Scheme is borne by
the State Government?

(A) 50%

\)%?% /

(D) None of the above

117. Which animal was part of the symbol of
Netaji’s INA Flag?

(A) Lion !

(B) Elephant :
(&) Tiger /

(D) Rhino

118. Dilatometer is used for the measurement of
(A) electrical energy
(B) mechanical energy
dimensional change in material
(D) thermal energy

119. Bengal Revolutionaries were largely

inspired by which Revolutionary movements of
Great Britain?

(A) Scottish
Irish
(C) Welsh
(D) None of the above

A-22

115. @i e 106 @@ @i 79 2féhy
SResieTa 96 & 1V 3 200 (1 $eTeid iyw
W’WW@@QWWW I,

(A) 8V
(B) 10V
() 6V
(D) 12V

116. AR5TR% TRIET TP PET I
ffmeR o *eit qey FHIIT 329 I ?

(A) 50%

B) 75%

(C) 100% G

(D) ToIEF @R 77

117. (FOI&R Senv 3% GRe ol i oy
eifspie feer? * |
(A) Pz e -
(B) =¥ s
©) I
(D) sl

118. fCAIGIRNGR (Dilatometer) e #ifFmicst
IO 2

(A) e fe
(B) e =i Py
(©) “Feq st e
(D) i =

119, <1eT Rt cafb i com s
A S ZmiRE @

(A) =B i, T

(B) wiizf i

(©) sTpy

(D) ®oiw IR w7y



120. Money Bill is finally determined by
(A) Prime Minister
\/GB'{Speaker /
(C) Leader of the opposition party
(D) President

121. Dry ice means
(A) Ice at-23°C
(B) Iceat4°C

(C) Solid SO,
Py Solid CO, L

122, The Election Commission is constructed
by the

(A) Vice-President

(B) Prime Minister
\,(2)/ President /
(D) Chief Justice of India

123. Who propagated the ‘safety valve theory’

and al)j:at(?j:h organization?
A. O. Hume, about Indian Nationill/’

Congress

(B) Lord Dufferin
Association

(C) Charles Tegart for Zamindari
Association

(D) Lord Macaulay for British-India
League

about Indian

124. What was the ‘Eka Movement’?
(A) A Religious movement\/
\,(B')/A Peasant movement
(C) A Secret revolutionary movement
(D) None of the above

MTS/21

K23

120, 4R petger e T
(A) gaia N
(B) ™I
(C) Rt werrel
(D) AEIS

121, 6§ 37T T
(A) -23°C THOR [T
(B) 4°C CZom T
() =37 SO, :
(D) oo CO, T R

122 ﬁz’m I 7 TR
(A) Tomigfe
(B) el | he
(C) 7Rf® NG,
(D) SRRTeR el Rowefe oo .

123. & o eI Toicd ‘Crafl era oY oot
PRI ¢

(A) 9.6, T, ST ST T T
(B) o6 GIRR, SIS Fo! A

(C) Tt (BT, wrfiidh sTmied ™

(D) =6 Gt Rafbe1-2fRomt et vt

124, ‘9 AW Ry
(A) <3 4T wiewEs o
(B) 43 I7F WCHIeTey -
(C) 4B ColoF Rt wesprer
(D) R @R N
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125. The Nobel Prize in 1;
rl )
awarded to ze in Literature 2020 was
\jM/Louise Gliick

(B) John Dranow
(_(_3) Peter Handke
(D) Peter Ackroyd

126. Family Income Ceiling for Kanyashree
Scheme is not applicable if

(A) the girl is physically challenged.
(B) the girl is an inmate of JJ Home.

© girl has lost both p ts.
All of the above \/W“

127. Who is the author of Allahabad Pillar
Inscription?

(A) Rudradamail/

mmsena

(C) Samudragupta

(D) Banabhatta

128. Pakistan Resolution was taken on
(A) 16th August 1946 ‘
(B) 26th January 1935
(C) 14th April 1942
\(By 23rd March 1940

129. Khajuraho, ‘theCity oftheGods’a UNESCO
Worl.d Heritage Site, the name of which was first
referred in the 11th century CE by

(A) ITbn Battuta
(B) Ibn Sina /
u Rihan Alberuni ‘

©)
“Omar Khayyam

125. 2020 FNETR AL I RS (S 7y
s fof =
(A) Louise Gliick
(B) John Dranow
(C) Peter Handke
(D) Peter Ackroyd

.”."

126. “F5sas SEIIE FHE AICEL CFCI
siifEraifas TG S Ay 7H T
(A) i = 2o =
(B) il JJ Home—aﬁmﬁWT@,ln
(C) wﬁww—mmﬁﬁwm|
(D) B TR

127. SR 2 TR T
(A) FEATH
(B) 2R
(C) T3
(D) TS

128, FafiRe @ wifitd AIFeE a9R
(resolution) (ST AR 2 S .
(A) 163 5T 1946 :
(B) 260+ TS 1935
(C) 143 «fe= 1942
(D) 23¢< 6 1940

129. STIR *2 AGAR UNESCO Figo [
R ARG, AN G orE oW BrEd FEH

i, fof 2=
(A) = Igel . :
(B) Tz R iy
(C) oI AR SR
(D) €57 Tw
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- 130. President of Indja is elected by
(A) Members of the Parliament.
(B) Members of the State Assemblies.
(C) Directly by the people.
Both the Houses of Parliament along

with the Members of the
Assemblies.

131. Gandhiji was influenced by
Tolstoy
(B) Dickens
(C) Marx
(D) Lincon

132. [The spectrum of color in Compact Disc
is ue to ,
Refraction )

(B) Reflection

' (© Diffractions_/

\_B7 Polarization

133. Sharavati Hydroelectric Project is located
\,QB)/ Karnataka

in:
" (A) Kerala /
(C) Maharastra
(D) Madhya Pradesh
134. Which was the first incident of a British
official’s assgssination after the revolt of 18577
M?assination of British ofﬁcialw
Rand by Chapekar Brothers ,
| (B) Assassination of British police officer
John Saunders by Bhagat Singh and
Shivram Rajguru
(C) Assassinationof William Hutt Curzon
Wyllie by Madan Lal Dhingra
(D) Assassination of British police officer
Jackson by Anant Laxman Kanhere

MTS/21

130, wrTes AR FiS =

(A) ARG FEIeE aEl |

(B) ey fReaTSPIEd Tierd Il

(C) TSI Al STFEA|

(D) SHefirese i1y ) Arey Reteeret-
RS TENd =il |

131. Sif%Rr 2eifte zafeem
' (A) TePo B
(B) feta= =t
(C) i et
(D) feeeet =4l

132. I3 &% (CD)-(e @ (el (7=l 9% ol
IR

(A) dfoTge
(B) efSwer
(C) SRS () ]
(D) AR

133, RIS TR o (AN S_Ee e
(A) G
(B) 5
(C) W=l
(D) Spewe

134. 1857-97 W &AW W AT Tl
OIS T TSN FAG S5t <o 2
@0@( (A) DT TgRem /s =1 wig, B,
\ AS-CF T
(B) ©e i 6 ey ez

SRR & A oy ,
(C) TFreTer Ryt 36 SR 2t ety
T~ et o

(D)Wwﬁwm-mﬁ

o =ffeee

I 2ot
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13s. Sabooj-Sathi is a scheme for distribution of 135. SiffGae FEFIET TIE-NA A0 MERIE7}
Bicycles to students of Government/Government |  syzerestifie/sigmi/ RErEa @ @ﬁ'ﬁ ”ﬁéﬁv
Aided Schools/Madrasahs reading in QT?-T E@I‘Tﬂ' Aizre feqe <1 292 B

(A) Classes IX to X
(B) Classes X to XI

(C) Classes XI to XII /
NP7 Classes IX to XII

136. The Asiad Gold Medalist Boxer passed
aWay recently at the age of 42. Who is he/she?

\,(A*)/Pooja Rani
(B) Dingko Singh /

(C) Amit Phangal
(D) Shivaa Thapa

137. Who wrote Ramcharitmanas?
(A) Harisena

(B) Harshavardhan
Tulsidas \/

(D) Joydev

138. Article 18 of the Indian Constitution
guarantees the right to
) Equalxty /
(B) Freedom

(C) Freedom of Religion
(D) Right to Constitutional Remedies

139. The recently much talked about ‘toolkit’ is
basically

(A) an e-commerce platform for online

tragnsaction.
Wﬁzcial media site meant for hackers,

\/C'{ a digital equivalent of pamphlets and N
fliers that helped mobilise protesters,

(D) an assemblage of sophisticated
electronic gadgets.

(A) 7 o et
(B) W it (e it ceifd
(C) et ife} it At cifel
(D) 7% | (e gt e

136, «Fmm (R Flerele TaE A
42 A T SIS e | U A He

(A) fer 7 L\
(B) feenmt g j;w- LTRF
(C) WS Teattar e, 18
(D) it it

137, AsfRreTTH-97 75fier Rl
(A) Row
(B) o
(OR -Gy
(D) TR

0

138, FeRNTTR 1smwwmwm—
(A) 5y

(B) 8w
(©) 43w 7Rt = AR
(D) el efRumm st

o
~,)

~.

139. At TwhS “toolkit Wza{m
(A) Wﬁ&w ERIcEf-C e i —

(B) WW@WWWW@I
©) R ooty 5 e e
AT |

(D) WW%WWWI
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140. How many new

Government Medical 140. 1 v I=CS oAt TR T .\ f/%
Colleges have become functional i West Bengal | (ftsrara erer ole] T0R? oW Lol
during the last ten years? (A) 8 - e 6
s ms T //% K-
\(BY6 X9 T axe
) & © 5 %‘Yﬁ’“ <
() (D) 3 C Lér .
D) 3 @ A "
o

V%

141 Pure silicon at 0 K is 141. 0K « 4! o7 B 21

semiconductoty | (A) SRR
(B) metal \/ (B) 419
(C) insulator (C) TBTF i
(D) superconductor

(D) SfesfR «

142. CentralRice Researeh Instituteislocated in 142. @@ 49 @I A SRES -,

Cuttack (A) I gt -
(B) Dhanbad (B) HIv_ITH nNyy
© Kaflpur | (©) T
(D) Coimbatore ; 8] 5 . .
143. Indiaisa / 143, sie @600 e '.
\Mnion of states (A) TSR FKE ) “
(B) Federation (B) T&1g -r5 \ﬁ\\\_
(C) Confederation of states © QTEW R
(D) Unitary (D) R
144. The largest glacier of India is 144, ©I0o7 WEq2e g 2
(A) Pindari (A) Freify o
(B)" Gangotri / (B) sizidt PR,
\M Siachen (C) Prarwe
(D) Hispar (D) i
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145. New Delhi, the new Capital of India was
inaugurated by Lord Irwin in the year

(A) 1905

MTS/21

\(B) 1911
1931
(D) 1947

146. A spring of spring constant k is cut into two
equal halves. The spring constant of each half is
now

(A) k
(B) k/2
©

4k

147. What was the major symbol of Mahatma
Gandhi during his non-violent freedom struggle?

(A) His looking glasses /
His charka (spinning wheel)
(C) His walking stick

(D) Hiscap

148. Solder used for joining metal parts together
is an alloy of

(A) Fe and Cu

Fe and Zn
(C) Snand Cu
(D) Sn and Pb

v

149. Hydraulic press is based on
(A) Archimedes law
Pascal’s law
(C) Reynold’s law
(D) Bernouli’s law

A-28

P

I~ I /}/ L 3
145. @mm@@mﬁf&ﬂ@wmﬂw
A
(A) 1905 T
(B) 1911 AT T
(C) 1931 AT
(D) 1947 7

146, ek @< k7 @ Peie T B

e, 2T G ek &< T

(A) k

(B) k/2
(C) 2k
(D) 4k

147. TG S\ SR TR [ 2SI

‘@a?'

(A) I s
(B) ©F 530l
(C) O &%
(D) ¥ 5

£\
\

148. 197 A (ST T JIF© ATF IR

(A) Fe @3 Cu e 4
(B) Fe €3’ Zn
(C) Sn 93k Cu
(D) Sn ¢} Pb

149, mcmwmﬁ
(A) O RSeR
(B) MRS R
©) (o] 7
(D) ?Kﬁ%abia




150. Who founded the

Gilontta Asiatic Society in

(A) Alexander Cuaningham
(B) John Stuart Mill
(ST William Jones \/

(D) David Hare

151, The highest peak of the Eastern Ghats is
ahendragiri
(B) Nilgiri
(C) Jindhagada \/
(D) Anaimudi

152. Vikramsila Bihara was founded by
(A) Devapala
Dharmapala
(C) Rampala
(D) Sasanka

153. Who has been named the captain of the
Indian Men’s Hockey Team for the Tokyo

Olympics? /
(A) Manpreet Singh
(B) Harmanpreet Singh
(C) PR Sreejesh
(D) Birendra Lakra

154. Ratioofthermsspeed andthe most probable
speed for molecules in an ideal gas is

(A) V3:1
(B) 1:3
(©) V3:42
(D) V2:3

A-29 MTS/21

150. 3 Ferrory «FRIGT CIARD 2fed! Fwm?
(A) WSl WIFRgH
(B) &= 3o Rt
(C) 3fera et
(D) (SfeT @4

151, s[Q5 ot 7w % 22
(A) @i
(B) T=fafa
(C) femtaimt

(D) S

152. ﬁmﬁw Q9 & gt e 2
(A) GTRNE
(B) 4t
(C) Al
(D) *MiiE

153. 7R (Bifee Sfifite oy eietes sFa o
TR S Ree a1 7w Rfes RER?
(A) T fBig
(B) =W g
(C) ™. =7, e
(D) A= =gl

: \. i
N

154, ol PR 99 T rms @4} xﬂﬁ\ most
probable (JCAF TS 257

(A) V3:1

(B) 1:V3

(C) V3:42

(D) V2 : 43
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155. Siachen glacier is located in the following 155. I oz fef Il
range : J (A) AT
\Mrakoram / (B) GIFIA
((lé) %.aS];ar. ] (C) Aqoflete r-eh,)
(C) Pir Panja D) i

(D) Shiwalik

156. Who said,“An eye for an eye will make the
whole world blind”?

(A) Martin Luther King

M. K. Gandhi \/
(C) Nelson Mandela
(D) Karl Marx '

157. Which commodity tops the current list of
imported commodity of India? .

Gold
(B) Platinum

(C) Petrolium products\/ :
(D) Petrolium crudes

158. The following river divides West Bengal
and Assam : -
i Reidak
(B) Sankosh

(C) Kaljani
(D) Chel

159. Whoamong the following freedom fighters
did not belong to revolutionary (militant)
nationalism?

(A) Veena Das

~ (B). Santi & Suniti /
\}/Q)/ Matangini Hazra

(D) Kalpana Datta

156. (< AT, “CBITad W (51! Foet Al #ff2dy
o R AR
(A) wfoa Faa iR
(B) &, (. S
(C) GeF Tl
(D) it el

157. SIS WM 214 GIIH W4 (I G4
e AU ? 9

(A) @t

(B) e

(C) CAGIETIIN 7o

(D) weiifas (ogifems ooy

1a

158. fafERe F7f ARowet @ s 9
AR 3

(A) ITCT

(B) e

(C) Irreif

(D) &= a

159, fiafeRe @R %ot WA sy [aAR
WWWW?

(A) et vy
(B) *if¥ @ 7S
(C) T gy
(D) 541 vg
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160. A boat floating in a tank is
passengers. If the passengers drink
tank, how will it affect the water le

(A) Tt will go down.
(B) It will rise.

(©) It will depend on the atmospheric
pressure,

\/(Di/ﬁwill remain same, /

carrying some
water from the
vel of the tank?

161. Inflation is -
(A) one time price level rise.

(B) increasing profits in production.
(C) increase in deficit financing. -

continuous increase in price level. \_~

162. The Valley of Kashmiris located inbetween
the following ranges :

\(X) Zaskar and Pir Panjal ~"
- (B) Zaskar and Karakoram
(C) Karakoram and Shiwalik -
(D) Zaskar and Shiwalik

163. V/Vﬁo was the Governor General of In_dié
when Gandhiji initiated Civil Disobedience
Movement?

(A) Lord Hardinge
(B) Lord Minto

(C) Lord Linlithgow
\,(B’)/Lord Irwin N/

164. The Chief Justice of High Courtis appointed
by the

(A) Prime Minister
(B) President \/

\,ce)/ Chief Justice of the Supreme Court
(D) Cabinet A

MTS/21

160. (I G4 SPITS A NPT TAT M

TR (AT S oHe] 03, SR ST T (P00
Ao %

(A) T @@ A

(B) Toita To1 |

(C) MR Bitets Botw FSa Fa3 |
(D) ©3% I |

161. SRS ==

(A) G T T I |

(B) Tesii crawfeies sarel 3.
7 () Wb Tm :
(D) @i e i |

162, IrAT Torert fnlERe Aot g
SRS 3
(A) T 8 Aqoligt
(B) TIFIF € AN
(C) IR @ R
(D) wE 8 Malfew

163. NS SRS ST 3 (3 STond

CEiCae foteie @

(A) =6 Qe

(B) =16 fiwd! i
(C) =76 fomfararsat

(D) 6 SO

164. REIET el Roreifs e o
(A) TR T
(B) Agofe7 == e
(C) 1AW BT e Rorsifes 7
(D) JWREo-97 2=
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165. The freezing chest in refrigerator is kept
near the top because
(A) itis convenient to use.
(B) it reduces cost.
(C) it cools the remaining space by the

ocess of conduction.
\}J?(cgf)nvection currents are set up. ,\/

166. Who wrote the drama Neeldarpan?
(A) Harishchandra Mukherjee
(B) Girishchandra Ghosh
(C) Dwijendralal Roy
\@/ﬁinabandhu Mitra

167. A vehicle covers half the distance with ° |
V) R AT G TS v, TN T, orgE iR
N TS TR

uniform speed v, and the other half with uniform
speed v,. The average speed of the vehicle is
%)
2
V) +Vp
®) Vs
viva
(C) vl +V2

N <
V) t+Vy

(A)

168. The binary equivalent of decimal number

4-625 is
(A) 100-001

(B) 100-110 /
% (277100101

(D) 100011

A-32

165. EFECHGET T (G (freezing chest) Gtz
I A TT—
(A) FZE TR |
(B) &7 ATS 2| : i
(©) ARG ST A ST ASeegel
R eul
(D) #IfveT @ (ofd 2|

166. AsTasfet (6 FIF 512
(A) Zfeiva oI
(B) fordmibe (a3
(C) e A
(D) T g

LAY

167. 5 1% 7 et e s e

V| +V2
2

V1+V2 :
(B) Vv,

(A)

L b -
N+tw

2V1V2
Vl + V2

©)

D)

%68. A AR 462597 TR (Binary) el

(A) 100001
(B) 100-110
(C) 100-101
(D) 100-011



169. Which Turkish S i
- ultan introduced the Iqta

(A) Alauddin Khilji

(B) Balban
Mtutmisll \/

(D) Muhammad Bin Tughlaq

170. Which Muslim general conquered Bengal
in the thirteenth century?

\/(;;)#:nnur
Igtiaruddin Bin Baktiar Khilji >4

(C) Chenges Khan
(D) Abdur Rahim Khan i Khanan

171. When did Sakabda ¢ ence?
\(P()/78 AD. \/mm
.~(B)- 718 B.CE. —=%:
(C) 178 B.C.E.

(D) 178 AD.

172. To which following movement is the term
‘ulgulan’ associated with?

\_¢AT Munda uprising /
Wgantal uprising ‘
(C) Kol uprising

A
\8%
(D) Gurkha uprising

173. Who was the hero of Rampa Rebellion of
1922-247

(A) Tanguturi Prakasam Pantulu
(B) Tiruppa Kumaran
(C) Puli Thevan

. (D)-Alluri Sitha Rama Raju /

A-33
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169. I o opeTol Te <3 2o T
(A) oEeim Refe
(B) TeTa
(C) Zergefiml
(D) wizam R IeTs

170. P SR PTITETs ATRITe C Rl &
AN ?

(A) To

(B) el ke afear Refer .
(C) cofere <t

(D) SR FfET A 2 A

171. ¥ I o1 906 2
(A) 78 AD.
(B) 78 B.C.E. o
(C) 178 B.CE.
(D) 178 AD.

172. Tewan =i FnfeRe @n SimiEEs
X TGS ?
(A) T g
(B) ool g B
() e g bt T
(D) cont Sy

173, 71 REs e & Reew (1922- 24)?
(A) TR SR ofrigey
(B) fowst Turmm o
©) “Af1 e o
(D) SR et it 2
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174. Tbn Batuta came to India during which
rulers’ reign?
(A) Akbar
(B) Sher Shah

Muhammad Bin Tughlaq \/
(D) Alauddin Khilji

175. When was the First Industrial Policy
- resolution taken?

\ A 1956
(B) 1947 .
(C) 1948 \/ e
(D) 1951
176. A ladder is kept against a wall. The top of
the ladder touches the wall at a height of 270 cm
from the ground. The base of the ladder is 54 cm

away from the wall on the ground. Find the length
of the ladder.

(A) /53682 cm.
(B) /68164 cm.
\@/m cm.rx/
(D) /82547 cm.

177. Mohan takes 6 hours todo ajob. Laltu takes
10 hours to do the same job. How long should it
take if Mohan and Laltu work together the same
job?

1
(A) 15 hrs.

3; hrs \/

2
1

© 23' hrs.
= i

178. What is the missing number?
1,2, 10, 37, 101, ?
(A) 320
226 v
(C) 206
(D) 402

A-34.

174.3@?@‘5‘@‘”%”' o

ST ¢

175. @mmamﬁmﬁﬁammwm
(A) 1956 T
(B) 1947 AT
©) 1948 AT
(D) 1951 I

My

-

176. <@l 2 STE WG FAC SR n%ﬁzi
wiarstel WS (@ 270 cm THO e =

- ET| W2Ha SWord (reE (TP 54 cm TCH

Ol ~=
N

wfEe | 1269 el FO ?
(A) /53682 cm.
(B) /68164 cm.
(C) 75816 cm.
(D) /82547 cm.

177. (= G IS FICS 6 IB! AT (T, A
T 10 951 | 87 GTANL IS FACS F© ANH (A 2

"L:oh‘/

4
(&) 17 3%
3
®) 32 ¥
© 25 %

(D) 3; w9

178, " s A o e 2o
1,2,10,37,101, 9
(A) 320 =
(B) 226
(C) 206
(D) 402

vl
(N
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179. ‘School’ is related to ‘Student’ in the same

way as ‘Hospital’ is related to
(A) Medicine
(B) Nurse
(C) Doctor
Patient

180. Manoj can type 100 pages of a report in
10 hours and Bobby can do the same in 15 hours.
They worked together for 5 hours. The remaining
work was completed by Lucy in 2 hrs. If they
received Rs. 2,400 for whole work, Lucy got

(A) Rs. 300

(B) Rs. 250

~(C) Rs, 200
s.400 ,

181. What is the missing number?
32, 19; B, ?
A) 3
B) 12 i

182. Exclusive Proposition: Which s the correct
option? :
All students are not genius. . /
very student is not genius.
(B) Many students are not genius.
(C) Many students are genius.
(D) Every non-student is a genius.

183. Today is Thursday, the day after 59 days

will be /
mday

(B) Thursday
(C) Friday
(D) Saturday

A-35
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179, *School’ fit ‘Student’ T, O ‘Hospital’
EIS R

(A) Medicine

(B) Nurse

(C) Doctor

(D) Patient

180, ST 10 ¥BT 100 Ao @3 fReatlG 5iZet
TS Sl T R @ IS 15 B 0 AN [l
ammswwwum%amﬁ?qﬁzwm
et 52 | O & O @ 4 GG 2,400 T
A7, O TP I AT ? e

(A) 300 T
(B) 250 Bit
(C) 200 Bl
(D) 400 Br<l

181. ‘7 HfF® FW (@I R AI?
32,19,8,___ 2
(A) 3
B) 12
© 5
D) 1

182. 3R BRI efseRi w1 |
G O @G AdF?
(A) 2o B SR T |
(B) W oeR fveRm Al
(C) = B Afeee| -
(D) I BTG 77 I AR ARSI |

183. o1e 3RS 20 59 i st P AW 22
(A) 3R RN
(B) Fxifeat
(C) &g
(D) =3

R
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184. How many times do the hands of a cloc

coincide in a ?
M
(B) 20

(©) 21
(D) 22

185. 480 students out of 1500 are enrolled ?n

NCC. What percentage of students are not there n

NCC?
(A) 70%
MS% /

(C) 73%
(D) 64%

186. Choose the word in the option thatis farthest
in meaning to the capitalised word.
WINSOME | |
‘(A) INSIPID / &
(B) UNATTRACTIVE roE
(C) PREJUDICE -
(D) OPPOSITION

187. The ratio of 6 inch to 4 feet will be
(A) 1:6 ;
B) 1:4
(C) 3:2 /

WDr1:8

188. Givenset (8, 3, 2) then follows
\/@_@9&8, 15, 6)

(B) (95, 24, 5)
(C) (63,8, 3)
(D) (15,6, 5)

A-36

0 08

(A) 24
(B) 20
(C) 21
(D), 22

185. 15000 0 480 NCC-CO TR g
mlwwmwmw@www

(A), 70% |

(B) 68% .

©) 73%

(D) 64% °

186. ‘WINSOME’ *<1f69 AICHT TFI0! &< 727

(R AHF I 00 2 -

(A) INSIPID
(B) UNATTRACTIVE
(C) PREJUDICE
(D) OPPOSITION

187. 63 S 4 F(57 Teite o
(A) 1:6
B) 1:4
(©)..3:2
D) 1:8

188. (8,3, 2)— & G165 et <oy ipe A
A0 5w eey | e
(A) (168, 15, 6)
(B) (95,24, 5)
(C) (63,8, 3)
(D) (15, 6, 5)

>3

fe
2>

W

2
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189. Should- the numbe
government employees bhe re
Argument: 1. Yes:

r of holidays of
duced?
Our government employees

are having the maximum
number of holidays among
countries of the world.

It is a sign of British legacy
which should pe carried
forward.

It will speed up work and all
pending jobs can be
completed well in time.,

4.No: Employees must be given
ample spare time to spend
with family. . -
\jk){nly ‘1’ and 3’ are strong.
(B) Only ‘1’, 2’ and *3’ are strong.
(C) Only 2’ is strong.
(D) None is strong.

2. Yes:

3. Yes:

190. Pointing towards a giﬂ in the picture,
Meghna said, “She is mother of ‘Jhuma’, whose
father is my son”. How is ‘Meghna’ related to the
girl in the picture?

(A) Mother
(B) Aunt

(C) Cousin
D

<

randmother

191. Atrainis 150 mlong.Itisrunningata §peed
of 41 kmph. A man is running at 11 km;?h in the
same direction as the train. In what time will it pass
the man?

\}343 seconds \/

(
(B) 3 seconds
10
1
(C) 300 seconds
(D) 1—1 seconds

MTS/21

189, IR oI gbw R T Bfow ?
s 1.%918 I (O STC TS
Wiy %wﬂ%ﬁmﬂﬂﬁ
26 (A A
2.3 ¢ «ft fafox Cexifiaicaa «sfo
oz 7 777 7 AN 27|
378 8 @b siter oI QT @R &
! Pleresfet T 17 ZJ |
4,91 3 AARAET AL T|WAZ A9
ST Gy TR @i
a3 T |
(A) @1 ‘1”@ 3’ @ ey |
(B) @<= 17, 2’ @R 3’ [ A@ey |
(C) @@ 2’ @ ey |
(D) @IIZ eftarey =4 |

A-37

- 190. 2Rt 95 TR (iR Gree e Ca g

I DIEI I BRI S A M e TG R e e R e e
T Y 3704 2 A

(A) =

(B) i

©) YLl @
\(D) I

191. 930 G WH 150 m1 @By sifos
41 kmph | 43 & 11 kmph e fizy Gale
WWIWWW@WW@WW
A

(A)
(B)

18 seconds

P

10 seconds

©

—

200 seconds

(D)

11
) seconds
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192. Given set (7, 77, 140) then follows
(A) (9, 88, 180)

BT (6, 66, 120)

(C) (8, 80, 166)
(D) (4, 10, 160)

193. Should seniority be the only criterion for
the promotion? _

Argument: 1.No: It would be an injustice to
- those juniors who are
deserving and suitable for
promotion ‘than senior

counterpart.

2. Yes: Otherwise senior employees
may feel humiliated.

3. Yes: Senior employees are more
experienced and must be

) » rewarded for the same.
(A) Only ‘1" is strong. \/Ea o

(B) Only ‘1’ and ‘2’ are strong.
Only ‘1’ and ‘3’ are strong.

(D) All arguments are strong.

194. ‘DUMA’ is related to ‘Russia’ in the same

way as ‘ECCLESIA’ is related to
(A) Bhutan

\(BY Afganistan {;
(C) Greece / K

(D) Germany

l
195. Exclusive Proposition: Whichis the correct
option?
Ifa person is nch he has lot of influence,
(A) Alok has a lot of influence, so he is
rich.
(B) Ifapersonisnotrichhedoesnothave

\/"e’)},lot of influence. ]
Tapas is rich and so he has a lot of
influence. \/hﬁ

(D) Poor people cannot have influence,

- A-38

L6 ﬁcvq'
192. (7,77, 140)— 3 (5T ST

(A) (9, 88, 180) |

(B) (6,66, 120) o
(C) (8, 80, 166) ;
(D) (4, 10, 160)

193. 2ol (Semorlty) ﬁf SO T GG %S
267 Bfhw?

ez 1 aﬁﬁmzﬁwﬁmw

: mmﬂmﬁmm.
@y @R TR GBI B
2. 37 ¢ S GGl WET?WT L‘l'C—
oraReTs #1ers A |
3,370 8 ﬁqwmﬂf‘@‘ﬂ?{\m
OiRE 92 ATHS A7 |
(A) ‘1 779 QP ey |
(B) G4 ‘1’ \'3‘2 W@ﬁmr@ﬂ
(C) @ ‘1.8 3 T @R A |
(D) el Yfee Aw@rey |

194. ‘DUMA’ 3 ‘Russia’ 2,9 ‘ECCLESIA’
B EGE
(A) Bhutan . '{
(B) Afganistan \‘\\ g
(C) Greece \

(D) Germany ‘°

195. @ e tﬁ’rww &SI} Hirg |
UFCE TN A Hdwe
(&) ST 6T erofd g o o )

(B) G TR 3 4 -2 o i s
2SI T 1|

(©) ot R«
IR |

(D) et e et s s a)
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196. Pointing 6

18 ‘only brother s
father”. Howis the ge

gentleman, Somenath said
the father of my daughter’s
ntlemanrelated to Somenath?

(A) Brother-in-1.:
V(’HﬁJllcle \/’VW \ 1
(C) Grandfather

(D) Father

[13

197. Naseer started from ‘X’ point and walked
straight 5 kms west, then turned left and walked
straight 3 kms and again turned left and walked
vs;r(a._ight 7 kms:In which direction is he from point
D 'el S ’ g 3

MMth-East\/ O

(B) North-East

O o
B ol Tl S

Ny

(C) North ¢
(D) North-West -

|

O oa R
198. A building which is 64 feet high cast a
shadow of length 96 feet. The height of telephone
tower, which cast a shadow of length 180 feet,
under similar conditionds -~ -
(A) 80 feet- .

~.(B) 100 feet \/

I 120 feét -

(D) 90 feet

199. Exclusive Proposition: Whichis the correct
option? STy
Many smokers get cancer.

(A) Cancer patierifs are smokers.
G (B) Most smokers get cancer. /

Smoking may lead to cancer.
(D) Smoking is injurious to health.

1 \

P

t

200. Today is Monday, after 61 days it will be.

(A) Wednesday
Q@B‘)ﬁ:urday

(C) Tuesday

(D)- Thursday

A-39

&\

TS 180 5 936
IO I

. 199, W qRARGE TR R - p
oy il

iy MTS/21
196, @ SHERE GRE G &, “69
GG B2 2671 W I AR TR | SR
T G R T2 .
(A) T
(B) ‘i3l
(C) forenz
(D).l

s il

197. 7R ‘X’ R o B0 @i 2R
5 km (oITl | SIF91 < [0 909 Gt 3 km @R
s{R A e 9@ Girel 7 km (9@ @39 3T X0
(¥ o5 @ fee iz

o) wE-d
" (B) Tem-o
(C) Tex
. - (D) Teg-5if¥5.

198, 64 %5 ©% @< e W1 O 96 751 @

‘(A) 80F5
(B) 10035
(C) 12035
(D) 90FG * g

4O R @ A5
(&) TR R AR
o (B) @fRStet R iR 2 |

(C) it eI s «ffien e i)
(D) 1o AT o10% e |

\

. iy \ .‘"‘

200. S AINIIT T 61 T
o (A) IRA ~
(B) #f =g
(C) ToERIT
(D) T~ifeam .
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